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’ 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00 | 0.00 ~ 488 60.84 | 1Ll | 000 ~ 488 | 1.80 9.62 ZznLst 1.00 ] 500 ~ 5.20 60.84 | #hList | 500 ~ 520 1.80 9.62
9 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00 | 0.00 ~ 527 65.70 | #nlist | 000 ~ 527 | 1.89 10.14 ZznLst 1.00 | 500 ~ 6.00 65.70 | 14t | 500 ~ 6.00 | 1.89 10.14
3 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00] 0.00 ~ 4.12 51.61 | Znlis | 000 ~ 4.12| 2.26 12.10 ZznLst 1.00 | 500 ~ 6.50 5161 | ZhbLlst | 500 ~ 650 2.26 12.10
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00 | 0.00 ~ 4.02 50.40 | Zn it | 000 ~ 402 2.18 11.65 ZznLst 1.00 ] 500 ~ 5.65 50.40 | #hi4t | 500 ~ 565 2.18 11.65
5 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00] 000 ~ 7.17 91.14 | Znlls | 000 ~ 7.17 | 1.84 9.84 ZznLst 1.00] 500 ~ 9.20 91.14 | Zh L4t | 500 ~ 920 1.84 9.84
" 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ZznLst 1.00] 0.00 ~ 7.60 97.25 | N4t | 000 ~ 7.60 | 2.45 13.09 ZznLst 1.00 ] 500 ~ 11.20 97.25 | Zhist | 500 ~ 11.20 | 2.45 13.09
; 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/m%#8 % % — -~ — —|3mEEZD -~ — — —
ThLS 1.00 | 000 ~ 6.36 80.03 | #nbLis | 000 ~ 6.36 | 2.07 11.10 ThLS 1.00| 500 ~ 920 80.03 | #hkist | 500 ~ 9.20 | 2.07 11.10
g 100kN/mM%#8Z % - -~ - —(3mZi#BZ D -~ — - — | 100kN/m#%#8% % — -~ - —|3m%i#EZ D -~ - — -
ThLS 1.00 | 000 ~ 550 68.60 | #n ks | 000 ~ 550 2.18 11.69 ThLS 1.00| 500 ~ 850 68.60 | #hList | 500 ~ 850 | 2.18 11.69
9 100kN/mM%Z#BZ 5% - -~ - —(3mZi#BZ D -~ — - — | 100kN/m#%#B% % — -~ - —|3m%i#EZ S -~ - — -
ThLs 1.00 | 000 ~ 559 69.87 | 1 List | 000 ~ 559 | 2.16 11.59 ThLs 1.00| 500 ~ 850 69.87 | #hLis | 500 ~ 850 | 2.16 11.59
10 100kN/mM#Z#BZ % - -~ - —(3mZi#BZ D -~ — - — | 100kN/m#%#B% % — -~ - —|3m%i#EZ S -~ - — -
ThUS 1.00 | 000 ~ 426 53.29 | #h L5t | 000 ~ 426 2.23 11.94 ThLs 1.00| 500 ~ 6.50 53.29 | #hbLis | 500 ~ 650 | 2.23 11.94
» 100kN/mM#Z#8Z % - -~ - —(3mZi#BZ D -~ — - — | 100kN/m#%#B% % — -~ - —|3m%i#EZ S -~ - — -
ThUS 1.00 | 000 ~ 6.00 75.17 | #hbLlst | 000 ~ 6.00| 2.08 11.15 ThLs 1.00| 500 ~ 850 75.17 | #hbils | 500 ~ 850 | 2.08 11.15
12 100kN/mM#Z#8Z % - -~ - —(3mZi#BZ D -~ — - — | 100kN/m#%#B% % — -~ - —|3m%i#EZ S -~ - — -
ThUS 1.00 | 000 ~ 6.65 8392 | #nbLis | 000 ~ 6.65]| 1.99 10.64 ThLs 1.00| 500 ~ 9.00 83.92 | #hilst [ 500 ~ 9.00 | 1.99 10.64
13 100kN/mM#Z#BZ % - -~ - —(3mZi#BZ D -~ — - — | 100kN/m#%#8% % — -~ - —|3m%i#EZ S -~ - — -
ThLs 1.00 | 000 ~ 5.16 64.34 | FhLlst | 000 ~ 516 | 2.29 12.23 ThLs 1.00| 500 ~ 9.00 64.34 | #hlist | 500 ~ 9.00 | 2.29 12.23
14 100kN/mM%#8Z % - -~ - —(3mZi#BZ D -~ — - — | 100kN/m#%#B% % — -~ - —|3m%i#EZ S -~ - — -
ThLs 1.00 | 000 ~ 6.93 87.77 | #hbLls | 000 ~ 6.93| 2.60 13.93 ThLs 1.00| 500 ~ 11.00 87.77 | #hilst | 500 ~ 11.00 | 2.60 13.93
15 100kN/mM%Z#BZ 5% - -~ - —(3mZi#BZ D -~ — - — | 100kN/mM#%#B% % — -~ - —|3m%Ei#EZ S -~ - — -
ZhLS 1.00| 000 ~ 472 58.78 | #n L4 | 000 ~ 000 1.65 8.81 ZhLS 1.00| 500 ~ 500 58.78 | #hLis | 500 ~ 500 | 1.65 8.81
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